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QP Code : 31253

(3 Hours) Total Marks: 80

N.B. 1) Question number 1 is compuisory.
2) Attempt any three from remaining five questions.

3) Assume suitable data wherever necessary.
4) Figure to the right indicates full marks.

Q1. Attempt any four from the following (20)

a) Describe design metric and optimization challenges for embedded system

7} Explain serial peripheral interface. Compare it with parallel method f’_

c) Explain some features of cortex R and A series which are not available in M series ;;5,:; -

d) What is on chip debugging feature? How it is accessed? ﬁk“
) G

Q2a) What are communication means available for networking industrial field deviaés?? (10}
b) What architectural features of cortex-M3 make it low power device. g {10)

Q3a) Describe any two wireless communication means used for embedded@{stem. (10)
b) Describe any three RTOS scheduling methods and compare. e (10)

.
y 5

Y
Q4 Design a driver-less car system. Show hardware block diagram, svl'%em workmg model
(FSM), software architecture module/function/drivers and thelr rfg{a"tlonshlp, list of

components. D (20}

Q5a) WhICh features of c-programing may be spemﬁcally uteful in embedded system? How?

" | (10)

b) Interface any sensor/display device with any contg?ller (10)
R
mﬁ_%:

Q6 Write short notes on, " (20)

a) Digital deSIgn using Verilog/vhdl: Advantagew’Dtsadvantages

aaaaa
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[Total marks: 80]

N.B: (1) Answer any four questions out of six questions

(2) Question No:1 is compulsory
(3) Assume suitable data if necessary

1. Answer any four questiéns briefly: (20)

2.

a} Compare OS] reference model and the TCP/IP reference model

b) Explain the authentication protocols of PPP

c) How does Token Bucket algorithm work?

d} Explain ‘bit stuffing’ in bit oriented protocols.

e) Sketch and explain construction of graded index optical fiber

a) With a suitable sketch explain the transition/connection phases in Point to Point (10)
Protocol (PPP). Also explain the supported sets of protocols in the PPP stack.

b) Distinguish between Go Back N ARQ and Selective Reject ARQ. {10}
Sketch the frame flow diagram for Go Back N ARQ and with 3 bit sequen::e number field and
window size of 5, showing the following events:

. Frame O is sent ; Frame O is acknowledged.
. Frames 1 and 2 are sent ;Frames 1 and 2 are acknowled_géd
1 Frames 3,4,5 are sent; Frame 4 is damaged. |
iv.  Timer for frame 5 expires o
a) Explain the different classes of IP addresses. Identify the "*:ass of the following (05)
IP addresses and give their default subnet masks:
1) 227.56.83.02)114.22.43.21 3) 129.14.12

b) Explain TCP connection establishment and release. (0S)

b) Draw TST switch and three stage space division switch for N=20, n=5 and k=2 (10}
and estimate the number of crosspoints reoulred for both cases.

If the above space division switch is to be n.ade non- blocking, calculate the minimum
number of crosspoints required. .
a) Explain ADSL with respect to Spectrurﬁ allocation and modulation technique (10}

b) What are the conditions to be sat,;;.hed by a good CRC generator polynomial? (10)

For P = predetermined divisor = f’ifiblOl(LSB) and D = K bit data block=1010001101(LSB),
find the CRC - :

a) Apply Dijkstra’s and Bellmafi Ford algorithm to the given network and find the least (10)

cost path ‘between 'sg_gi::é'enode 1 to aii other nodes
e
o
14
| | 15
_ Q/ _ ("
T L T . 1 _
~ b) Explain how TCP handles error control and tlow control (10}

P.T.O.
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6. Write short note on: { Any TWO) ‘ | , _ (20]
a) Compare OSPF and BGP
b) Berkeley socket
c) HDLC
d) CSMA/CD



